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ACCOUNTANCY

Full Marks : 100 .

Pass Marks : 30
Time : Threé hours

The ﬁgures in the margm indicate full marks
Jor the questions.

Q. No. 1 carries 1 mark each _ o ~
' 1 (a) o Ix4 = 4
1m 0 1x2= 2
1 (o . Ix2 = 2 )
Q. Nos. 2-6 carry 2 marks each : x5 =10
Q. Nos. 7-11 carry 3 marks each : - 3>£5 = 15
Q. Nos. 12-18 carry 5 marks each | . 5x7 =35
Q. Nos. 19-22 carry 8 marks each , - 8x4 = 32 .
Total =100
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I (a) F111 in the blanks with appropriate word/ words (any four) ‘

ﬁm@warﬁﬁsﬁﬂaw (ﬁzwmﬁﬁfr)

) (i) . Income-and Expenditure Account is prepared on

(i) Liability of a partner is | .
- e W"ﬁiﬁﬁa AR AR
©o(@i) Annual Report is issued by.a company to its
B R R AR w Rfww
(iv) - L1qu1d ratio is the relahonshlp between
 liabilities. | a S
R WATS S BTS G S s

() Equity shareholders are of a company.

TR 4T R GO Ty

1]

() Choose the correct alternative :

o, TeI0! IR 41 8
(i’) “When a new partner is admitted -
m%ﬁa@wﬁww@ww%’w@;
: (a) Consent of all the partners is requireci.
TR WOTMIRY AT Sfrarew 7y
®) Consent of ma]0r1ty of the. partners is required.
SRR W\“?Wﬁa? ey TS 77|
(c) Consent of any one partner is required,
@»TACOU [2]

\ basis.

1

and current

1

.
I! -

(i) Balance of shares forfeited accotiht after re-issue is transferred

to—

.Wﬁﬁaﬁwm@wwmﬁmawwwm-

(@) Reserve Fund

s e
() Profit and Loss Account
(c) ' Capital Reserve

A e

1

(c) State whether the following statements are “True” or “False” : (an y two).

TR SRR o @ “oww” TRl 3 (R ghy)

(i) Outstanding subscription is-an asset. .

ARETE IR T2 Bl T

(ii)) A Preference Shareholder gets interest af a fixed rate.

o ST A <5 RS JE TS AW
~ (iii) . Company’s shares are gerierally transferable.
- IR SR RS BB |
(iv) Life membership fee is a capital receipt.
G S MR (2R T JER A |
2. Mention- two features of a not-for-profit organisation.
7S Gt efHr 751 e S <1
3.  What is Profit and Loss Appropriation Account ?
AT Gofareet otet B |

4. What is the meaning of Cash Flow from Financing Activities ?

R SO @1 R T 671 g’y o Bl |

32T ACOU ' [3]
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5,

6.

7.

8.

S.

. %m@%g? ?ﬁmség éfggﬁot-s()% : a?? W”ﬁf‘ﬁi 8,00,000 %
10. Expiain the following terms : A o - 3
OE AR Rl 3 8 - :
(i) Capital Fund '
T e
32TACOU = - | [4]

Mention any two features of E-l‘ debenture. - .. - | 5
- AT Rcpicar 75 ey Tomd <=1 |
Mention any' two rights of a partner. o o L

A and B are partners sharing profits' and losses in the fatio 3:2.C is

admitted into the partnership. A surrendered ) rd of his share and B

sui:rendered }{‘th‘of his share in favour of C. Determine the new profit
'~ sharing ratio. _ - .3
A SIF B SR SR I (9SS 312 SHpsive -GN 35 w3 |

C- g TR BRIt I T | A~ (969 W10 1 i By (O oK

Y3 I C T erepeftl TR | g S 5 Hpite ey oy

| _ OR/ A

Writé three distinctions between Fixed Capital Accou

- Capital Account. ' ’

ot e ot e R T RO T <1 9 ey ey,

Explain three uses of financial statement.
R e 7T IR T 4 |
- Mention any'three objectives of preparing Comparative Statement S 3

SN AR ﬁwﬁﬁm@ﬁwm%ﬂwl

A company’s stock is Rs: 2,00,000. Total liq
quick ratio is 2: 1. Calculate current ratio.

nt and Fluctuating

Juid assets are Rs. 8,00,000 and

(ii) - Life Membersfu'p Fee
(iii) Entrance Fee ‘ : |
S . ' 'OR/WI??)' :

Write three features of Fund Based Accounting. .
SRR Rotere B whley B
" | ~ OR/FEA

Calculate-the amount of stationery consumed to be shown in the Income

- and Expenditure A/c for the year ended 31st December, 2020
- 31 o, 2020 O PRl T i< Rpiste CRERETTAY TR AR

- R R— |
01-01-2020° 31-12-2020
Creditors Afoi- stationery o 4,000 © 6,200
' Stock of stationery : 5400 5000
TR TGS

11.

During the year 2020 payment made for stationery was i40,000.

2020 735 foess KR AE 40,000 Tt ety =1 Cafze |

Write three differences. between Realisation Account and Revaluation
Account. 3

TOMER 51 @R = eiiam fRvtetn Siere 4 /RS sie Byl |
OR/ 7zt
Write any three uses of Cash Flow Statement.

W 2RI AR R A e Bl |

32T ACOU | [s1° ' Contd.



12. Prepare Income. and Expenditure Ac : Sl ' . .
andpPayments Account alx)id other detaflzu;tsir:yr: g‘sbfgiot‘;fén}:geie;zitg ' | ? I Other details, ( WW R9)
31st December, 2019 : 5 L S0 - Outstanding Salaries — ¥ 1,000 -

31 o, 2019%%%%%@]%7;—%@_%@9[% ‘ B IR T — 1,000 3

SRR R o <R I T gt e < R |

Receipts and P,aYments Account N (fj) - Subscription outstanding — 2,000

Receipt (&) () | Payments B . . ' » ' :
To - Bal bd: , 5 z Sl () ®) ' (iii) -Subscription’ for-2019 received in 2018 .— %200
0 - Balance e . |'By . Salaries - ‘ . | |
- (e Tge) | ) 1,2’000 . | | 201921{3«@@ 2018 © conar‘@ﬁ?{——zoow
ga;:%?énd S e ‘Fﬁaﬁ'om; - 3,000 I . OR/ 1%t
To Subscnptlons - By Travellmg Expenses . 3 yo Write five distinctions between Receipts and Payments Account and
' («@ﬁ) v h (@9 7) o : 2,000 ' '. | ‘ Income and Expenditure Account. -~ : : 5
2018 — . 900 | By Telephone Charges 5 000l L L ‘«’HB fetet i S fRteR et ol SAishr S By
2019 — 19,0001 R B ((‘Big’iaﬂ;ﬁ /) ! . .
2020 — 1,000 o : E—_— . 13, Explain the method of calculatmg ““Cash flows from Operatmg Activities”
: : T ' 20,900 . : ‘ ' . ' under direct method. 5
*|To "Sale of newspaper 100 | By Investment - o | ‘ oo oafe SR awnﬁl?ﬁ wﬁmﬂa
) Al Fom 2@1‘3 ﬁcﬁ: 0 sifow! I
L (reRFey i) L ®Raey - . | 10000} o =l -
To Life Membership Fee 5000 { By C fan € T 1 : : : .
(st s ) " o trﬁ::%l)o " ofBullding| 7000 | T - OR/aRI
~ |To Donation (%) 6,000 | By Rent (T : ‘ - | Calculate cash from OPeratmg activities from the followlng information:
| To " Donation for Building| 8,000 | By Postage (Ts) L 2,000 ' Ao T SUR o[l TPIRT PR ol M T ﬂﬁsﬂ‘f ﬁ‘ﬁ 98
(ST AW W) - - By Balance /4 | 1000 O 2019 3)
- . . g . . . A ® 20209
To Interest (1) 2001 " CeR@ ) | | . Profif and Loss A/c. (-G fRpiel) 60,000 65,000
To Maintenance Grant 2,000 |- ‘Cash-m_han ' : WAR) . " 50
. . o d _ Debtors ( , _ . - 87,000 50,000
(RO o) | o W) 1200 - ~ Bills Receivable @5 &) 62,000  1,03,000
To ?ale .of g%r;lture 1,000 | ‘ ] - . .. . General Rasérve (ﬂﬁﬁ‘T g ()) ’ 2,02,000 - 2,337,000
| A 5’3 200 o . B - ‘Salary Outstanding (S W) . 30,000 - 12,000
- L T . [ Wages Prepaid (Wﬁﬂ iy ﬂqf%) | 5,000 - 7,000
\‘w , Goodwill (FFR) : V 80,000 70,000
‘ | | S " Cash and Bank Balance (o R R ) 40,000 30,000
32T ACOU . " [6]
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14 What is Ratio Analys1s ? Mentlon any three 11rmtat10ns of ratio analysls
- 243=5
wﬂrﬁmﬂqﬁs ? wﬁvn—ﬁm% ﬁzmﬁﬁﬁr%ﬁmww|

OR/ .

Briefly explain the meamng and Slgmflcance of ani i two of the following
- ratios —

woTe il SHPreT WWW%W @Wmﬁ'ﬁw-
(i) Debt-Equlty Ratio
o 3 I et
v(ii)‘ Gross Profit Ratio
35 e e
(iii)) * Quick Ratio |
QRS Sl
(iv) Stock Turnover Ratio
TS oI RS AT .
) : . OR/ "\03?7 :

Cost of Goods Sold — % 3,00,000
Rt AT ey
- Stock Turnover Ratio — - 6 times

ﬂ@fﬂcﬂaﬁﬁwvn@‘ (6 AR)

Find out the value of Opemng Stock, if Opening Sfock is ?1.0 000} ‘
the Closing Stock. 000 less than

5
,'ﬂﬁwmwmmﬁwﬁmloooomqu -
o¥1 o B " £ SIS g

32T ACOU [8]

-15.  From ~the following Income Statement, prepare Common Size Income

- 2Yax2=5"

Statement and give your comments : : 5
_‘G’ﬁ W A SEATLNT "NT OO IZII leﬁﬁa ‘5"213 oS @Wﬂ TS I W (ST
IO WWWIT
. Particulars ' 201‘8 @ 20"19 ®) Partlculars 2018 () | 2019 ()
(Re=9) (Rael) o '
To Cost of . , | By Net Sales 1,20,000 | 1,45,000
Goods Sold - 95,000 1,05,00Q 1 (ape Ga)) . :
(ReFRA1 AT -
FITLET) | |
To Gross : ‘
Profit ¢/d ’ 25,000 -40;000.
(3 &) — , ‘
1,20,000 1,45,000 1,20,000 1,45,000
) To Office ) "By Gross :
[Expenises 2,000 | - 8000 | Profit b/d 25,000 40,000
(TR 4T) (P 7Ire) |
To Distribution '
Expenses 3,000 5,000
(Ro%" 2b)
To Net -
Profit ¢/d 20,000 [ 27,000
( FS E1S) '
?’T : 25,000 40,000 25,000 : .40,000.
OR/ &

Give the new format of the Balance Sheet of a company (main headings
only) as per the requirements of the revised Schedule-VI of the Companies

Act.

Wﬁw@awﬁm%ﬁmmwmmwﬁa%—mmw@
: (Wﬂ’«’ﬁﬁ“ﬂﬂ{i)ﬁ@ﬂl .

32T ACOU - [9] . © Contd,



- 16.

OR/ 7T

Give - five’ points of dlstmchons between under—subscnptmn and over-
subscription.

wmﬁmﬁwwﬁww ?ﬁ@?ﬂ@@lm|

| (iv) No cash is to be paid to B unmedlately and balance of hlS capital

account is to be transferred to his loan account.

B3 1% 4 SICHATSICE ~HfRp TR TG e (o c—\saafr&ﬂfimﬂa%g@
(9T 94 ﬁmvﬁaww:m

Prepare Revaluahon Account and Partners' Capital Account.
Wfiﬂﬂn@n%w«ﬁﬂﬂﬁmﬂu
| OR/

Write the uses of securities prermum amount.

 ofogfe ofiEe R JRETR B4
' 17. P, Q and R were in partnership sharing profits and losses in the ratio of
" 4:3:3. On 31st March, 2020 their Balance Sheet was as follows: - 5

'.meR433wwﬁW@wﬁwﬂn@a«mwﬁm

A, B and C were in partnerslup sharmg profits and losses in the ratio of
3:2:1. On 1st January, 2020, B retired from the firm. On that date their
Balance Sheet was as follows: - . 243=5
‘A, B W% C @ 3:2:1 Ssies aie- Wmﬁw\ﬁﬁwaﬁwl
1 SRR, 2020 IRt B mﬁmwwwml m%‘ﬂ%vr © (0eteTies
TG BT i 4R i 2
L ‘ Balance Sheet Tgs 19) ‘ _
Liabilities ((F) * | ® - Assets (rif%) T ®
Creditors - | 27180 | Cash (M &) | 9400
(etha) EER P PRSI "
’ Debtors ((HWIF)
| Capitals : U 16,000
) Stock (e ) 23,380
- A : 30,000 | Building (w2) |
B- : 20,000 Profi ' . ' 4.6'000
c : 20000 | . |Frofitand Loss A/c 2,400
T 70000 | (e Rptet)
97,180 ' BTy
_ _ ‘ |__97,180
~ The terms of the retirement were: - |
SRR TSR Wi ¢
(i) Building is to be appreciated by 314,000
BIR T 14,000 T @ 3 29 .
@) Prov1510n for doubtful debts is to be made at 5% on the debtors |
AR €oIR 5% FCTRES W Ry ol 91 27
(iii) The goodwﬂl of the firm is to be valued at % 36,000.
ﬁmww ssooo%asr@wvz‘an
32T ACOU - [10]

ifRetl 31, 2020 SRS (OGRS Tgeia TS firt 4ae iR 3
. Balance Sheet (3%% @)

Liabilities (cw) - ®) | Assets (Fifg) ®)
Creditors (G 87,000 | Fixed Assets (& () 2,90,000 |
Reserve (1% &) 33,000 | Stock and Debtors 85,000 |.
Capital Accounts : (S A A M)

(e fotet)  Cash (1) 15,000
' P :1,05000 :
. 85000 |
R : 80000 | o 0o
“3,90,000 3,.90,000

deceased partner. -were entitled to :

30.6.2020 OIRYS 'Q'—aq—;mg%arsrw\%« ﬁﬁﬁf\wa o1 3

(@ Amount standing to the credit of deceased partner's capxtal account.

g—waﬁm«qﬁw&mﬂa@t@t—w Guchel)

32T ACOU

(1]

Q' died on 30.6:2020. Under the partnership agreement the executors of a .

Contd.



© (1) Interest on capital @ 12% pa. -

18.

TR 12% @ TAHAT 62T IS |

(© His share of goodwﬂl The goodwﬂl of the flrm on Q's death was
valued at ¥ 2 70,000.

mamwwnqawﬁﬁwwmwoooo%rw

A

: (d) Share of profit from the closing of the last financial year to the date

of death an the basis of last year's profits.

ﬁ%WWWﬁWWWWWWWW
5 |

ho

The'profﬁ of the firm fé)f the year ended 31.3.2020 was 32 ,40,000.

Wl
Prepar_e Q's capital account on the date _of his death. .

Q3 PR oifws cs\'é”aqmﬂfimerwwl
OR/ &l

Distinguish between Profit and Loss account. and Profit and Loss

Appropriation account. ' 5-

m—mmﬁmmm—m%mﬁmawmﬂamaml

What is Realisation Account ? Write three cases where a partnership firm

may be dissolved by a court. : ' 2+3=5

Wﬁﬁmﬂ%?amwmw%mwww%' |

TER OEd |

32T ACOU | [12]

'OR/ 733t

. Amal and Bimal are two partners in a firm. They share profits as 3:2.

Following is their Balance Sheet as on 31st March, 2021 on which date the

. firm is chssolved

Wmﬁwamﬁﬁéﬁmw\%rr@m32wﬂm@wﬁﬂmt
31 5, 2021WNW%§@9IWTW®% ﬁﬁmaﬁmw
SR T S

Balance Sheet (e “9)

3132020#\%@—%%@3%3?%%?11@@@%240000 '

Liabilities (Crel) ®) Assets (72ifQ) | ®) ' |
¢ Creditors (WW) ’ 20,000 Fi@d Assets (@ Toife) SO,QOO
‘ Reserve (ﬂf@@ ?lf&) 5,000 Stogk (W 9{41]) 10,000
R Capitals : (SFIW) : Debtors (M) 15,000
| Amal e 2000 Cash (o) 3,000
| (=) :

Bimal . 15,000 Profit & Loss A/ c 2,000

(ﬁﬂ?‘l) : 35,000 (ST~ (=TI f25191)

| vFixed Assets are realised at ¥ 28,000: Stock at X 8,000 and Debtors at
z 13,000. Expenses on realisation ‘are ¥ 1,500. Crechtors are pald at a

| discount of 10%.

qﬁ;mﬁi@ﬁﬁ@aﬁmmow CFIII 14T | /e =43 71l 8,000 Bl W
. GAmRE ol 13,000 TR AR R EUMTIOR 9969 ARSI 1,500 B
GRS 10% (TS ARCIIY 3 24T |

Prepare Realisation Account, Partners' Capital Account and Cash Account.

SR Rt SRR T Rotot e o 51 efgw |

32T ACOU
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19. Pradeep : and Pranab are partners in a firm. The Trial Balance of the firm

as on 31st March 2020 was as under

8

ﬁ%ﬂmﬁ%«ﬂﬁ?{ﬁﬁﬁ?@%wlw 2020#%?1—&%%%5@

fiemeia oo Wiy wfee ¢
‘ Trial Balance (@T e =) .
Debit ® o Credit *(i)'
 Machinery (’W"%) - 54,000 Cap‘é?idef«:f[ W)— . 50,000
Goodwill (37i%) 10,000 (&7) ' .
Patent ((5105%5) 20,000 Pranab - — .40000{ "
Suridry Debtors 21,000 | - (2R) T | 20000
RRy i) | | Sundry Creditors | 5000
Cash in hand (F9% Trai) 1,000 | (RR sireamiv)
CIosing,Stoek o - 25,000 Interest on Investlnent 400
(TR g o1y ) (RRIR @e 7o) |
Investment (RfScata) 10,000
Depreciation on Machinery| 6,000 Sundry Recelpts (RRa an@) 200
(XA @o S | Bills Payable (e fe) 2000
?:enI' (W)' o 10,000 | Bank Overdraff 10,000
arriage Outward 1,000 (@ STOHTIS) A
(Reafte sRa). . R
Taxes () 500 Outstanding Wages 5001 -
500 | oy )
Telephone charges 3,600 .
(&R <) . Trading Account :
Commission () | © 800 (@‘g—ﬁ_m feote1)
Drav;rings (=) ¢ -Gross Profit (5 ) 71,000
| Pradeep (=) 5,000 Discount (3Gt) 900
Pranab (29) 4000/ 9,000 |
Salarjes (VIW3) 8,000
Bank Charges (X% 495) 100
- 1,80,000 1,80,000
32T ACOU [14]

20.

.Prepare Proflt and Loss Account Profit and Loss ‘Appropriation Account

and the Balance Sheet of the firm for the year ended 31st March, 2020 after
considering the following information :

,—mﬁmewﬁ@waﬁamw 2020-rﬁw—wwwmme-mw

251, ar-@m%mwfim mmmm*’

(i)

‘Write off 3 1,000 as Bad Debt and prov1de a5% Provision on Sundry
Debtors for Doubtful Debts. .

'1ooowwﬁﬁwfismw®mﬁﬁamw@9ﬁ—5%'

@
( 11))

(iv)

(b)

(o)

(@)

" 30T ACOU

AAZEAS. alcféjf@ﬁ 515 R FACA |

Interest on Investment Accrued 2 600.

R oS ARF 600 5 8|

Interest on Parhlefs' eapitaI islallowed @ 5% pa.-
wﬂm%ﬁww‘wﬁ 5% 2 F© 4R A |

Create a General Reserve by taking 2 5, OOO out of profit.

'mwsooomtamwﬁewf%masﬁamm

Wrrite two differences between Authonsed Cap1ta1 and Issued Capital
of a company. 2

anmw%w«mﬁﬁwwwwwm@ﬁm.

" What is Minimum Subscription? o 2
e FETHS W & | '
What is Reserve Capital ? , | o 2
s e & 2 |
What is Call-in-Arrear? . | o,

- [15] | . Contd.



'(b). Debentures issued at premium and redeemable at premium.

on/

aetoia RS RFRRE i wfkgee ARe |
| Amab Company Ltd issued. 10,000 equlty shares of ¥ 100 each at a \ : © DébentlireS, issued at par and rede.emable at par.
: prermum of 10% payable as under - 8 | : . Aol TS R S FTETe mﬁl
*30on Application : Co ’ (d) bebentures issued at premium and redeemable at par.
N 60 on Allotment (mcludmg premlum) Lo : | : ' - zwpm Tfrges Rieasd =i W © ARC |
% 20 on call o B T . . o OR/ %t v o
; Kamalesh holding 400 shares. failed to pay the allotment and ca]] o - '_ 'What are the differences between a shareholder and a debentureholder ? |
money and -Monalisha holdlng 700 shares failed tg pay the call ', o _ o qu@qﬁzﬁ iR GG AIYRFI TS A B & 2
~ money. : . a . o OR 7%
| Show the Entries in the Cash book and ]ournal of the cornp'an-y for ., v ﬁxplam d lfferent methods of redemption of debentures.
the above transactlons _ . | e AR ﬁf:‘:‘t ,[: < o =1 |
| :fwﬁﬂ;’ﬁ@m _f;fﬂﬁ;();—c 2?1;:2 ;%gogz:?[ ST 10% o o, Ram and Mohan are partners sharing profits and losses equally Thel;
X . ) . ‘Balance Sheet on 1st April, 2021 was follows: .
30 B! SIS TS , o ‘ Wmmm—mmwww%na@a 2021 wifRes
60W(WFWW)WEW e , f@mﬁﬁww—ﬁmm% ' '
20 3?5]‘ RS TS \ | . ' N L ‘ . ' Balance Sheet (¥%@ 9|Ei)
400 < SIeeioia 415 T IR0 s Wi & ﬂ‘q IR o . , | [iabilities (G @ | Assets (T2If5) )
700 3 wiRetela A FITRR SR G o g RIRe | Gundry Creditors 15,000 | Cash (-W) . 5,000
@W GG Wﬁ? e ﬂﬂ‘ﬁ?@ ﬁfiﬁ R Sz ﬁﬁ% B ' (ﬁﬁzx oApeAMIF) | IR Debtors (m) _ 16,000
N ﬁ“ﬂTl o 3 Capital (T).: | Stock () - 12,000
| | | ‘ | o | Ram 40009 Machinery (3g#iif®) | 22,000
21.. :;Zi(flc;:;n;l‘o, entries for issue and redemption of Debentures in reSpect o ; | ' N .S:zan .: ‘ | 3(),000, 7'0 00.6 Building (W) ' g 30,000
Wﬁmwma«w@aﬁ%mﬂﬁmwwmm | - e : | .
(1) Debentures issued at a discount and redeemable at premium 85,000 . | : ‘ B0
AT TS Rt o St sty |
A 1171 Contd.
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_ _ (i) Explainfive factors affecting the goodwill of a firm, . 5
They decided to admit. Sanjoy mto partnershlp for 1/ 3rd’ share on the , ' ST AT ‘81'\‘3121' (oIt SiRT SftY R T Eaul
following terms : : : ' ' ’ . -
& OR/ 7zt
: AP W l%% W“gﬁﬁlal IS &F & '
: ;@ﬁmlﬁ 1 Q;i Tg ﬁT(?l' W\%‘? 53’@8 e o ‘ Distinguish between dlssolutlon of Partnership and dissolution 08f
HEI) _ ' o | ‘ - _ Partnership firm.
- () Machinery and Bulldmgs were revalued at 2 20,000 and 3 42 000 L TR W e qﬂW W Wi]?ﬁ iere Vﬂﬁl%} ﬁ‘*ﬁl
- respectively. - o : ' ' ’
.-mmasﬁmﬂrﬁmwwm zoooonuooofm 4 -
aeel | .
. . N x .
(ii)) Creditors were redﬁced by 2 2,000. .
' . ' . ) r
ANSIMIF FFTF 2,000 THICI JT [t T4 | 'y
(iii) Provision for doubtful debts on debtors is to be created at ¥ 1,000. '
cww‘\fsém 1,000 W‘W el ffR o1 T 291
o (iv) Sanjoy is to brmg in i 40,000 as hls capltal and Z 24 000 as premium o - R o - : - ‘ - R
for goodwill. ‘ o
(e 40,000‘3@ T S 24,000 5 e i R vsnﬁa wﬁau
Pass Journal entries for the above information and prepare Balance Sheet .
- of the firm after the admission of San]oy '
TG AP AT Il aﬁ@ﬁmmwmwﬁﬁwmw
AGIH 3@{’3 RSN
OR/ Izt
@) Write any tiree lhiﬁtaﬁons of partnership business. - ' 3
SR IR Rizarcar ffb! et Bra o [19]
; | 32T ACOU |
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